1911 L CI Installation Procedure

Return Spring Steps 1-5

Step 1. Install T-nut into your dide asif you where assembling your slide on your
frame.

£ ESE

"'". i

Step 2: Insert dide on Jig with the breach face against center post, tighten the two
10-24 screwsto secure dlideto fixture.

J »
Wl
- ]
B k!

Step 3: Stand fixture up vertically in vise with the slidesright side facing the
oper ator.




Step 4:

Step 5:

Step 6:

Step 7:

Step 8:

Using an edge finder, locate the back jaw of the vice and the right side of
thefixture, and set zero for both axes. Then dial the X-axisfrom zeroto
1.775. Dial the Y-axis from zero to .5000.

Insert thelong 7/64 drill into drill chuck (with spindle off) lower the drill
into the fixture guide hole until it touches the breach face of the dide. Set a
zero, turn on spindle and then proceed to drill thereturn spring holeto a
depth of .7000. Y ou are now done with the return spring hole.

Pivot Pin Steps 6-8

With the pivot pin block removed, insert fixturein to your vise with the
right side of the slide up and against a machinist stop on theright side of
fixture. Whit your edge finder, locate theright side of the fixture, and the
solid jaw of your vise, and set zeros. Dial the X-axisfrom zero to 2.9375.
dial the Y-axisfrom zeroto 1.9230.

Insert a 1/16 end mill and make a spot face to a fill diameter. Remove
fixture from vise and install the pivot pin block and tighten 10-24 screw to
secure block. Reinsert fixtureinto vise.

Insert a /16 drill into the spindle and drill thru the slide (peck the drill up
and down many timesto clear the chipsfrom thedrill. Small drillstend to
break easily). You are now done with the pivot pinhole.




Step 9:

Step 10:

Step 11:

Step 12:

Step 13:

Step 14:

Stepls:

LCl Slot Steps 9-13

Insert your fixtureinto your vise, side up right with therear part of the
dideto your right. With your edge finder, locate theright side (X-axis) of
the fixture and solid jaw of your vise (Y-axis) and set zer os. Dial your X-
axisform zeroto 3.;_)6_3.25 and your Y-axisto 1.0000. Reset both axesto zero.

Insert a stubby 1/8 end mill into spindle. With spindle off, touch the top of
the Return spring Block and set a Z-axis zero. Lower your Z-axis.2800
and reset your Z-axis zero.

With your Z-axislowered to your new zero, dial (slowly) your X-axisto
.2000, and then dial the opposite way to clear end mill from the dot. Then
move your Y-axis +.002 towar dsthe back jaw of vise, and then dial your X-
axisto .200. Move your Y-axis towar dsthe operator -.002 and dial your X-
axisthe opposite way to clear end mill out from the dot.

Raise your Z-axisto .125, dial (slowly) your X-axisto .350, and then dial
the opposite way to clear end mill from the sot. Then move your Y-axis
+.002 towar ds the back jaw of vise, and then dial your X-axisto .350. Move
your Y-axistowardstheoperator -.002 and dial your X-axisthe opposite
way to clear end mill out from the dot. You have now finished the rework
toyour dlide.

Insert theLIC (with out return spring) and use your 1/16 drill asa
temporary pivot pin, check to see how much of the LCI protrudes above
thetop of dide. Filethetop of theLIC closeto thetop of your slide, when
closeremove the /16 drill and L Cl and finish filing until flush. Repleteif
necessary (If done with carerefinishing of sideis not necessary).

Insert return spring in the 7/64 hole you drill first.

Insert the LIC and /16 roll pin into the 1/16 hole you drill second. You
havenow finished the complete installation of your LCI.



